HK209KB
IN—Y) X



(HK209KB H &)

NO.21 L —/LARIK/L—)L 13—
NO.21" b=
NO.2  JHHED

NO.4 Mg —v /At —

NO.5  FEFEES/FETEA /X —

NO.6 tz~/lx7ff4’F‘/7zLj—7

NO.7 HZRU7/HEFET /N —

NO.8 ETIEEA)

NO.9  FEFEEXEDE 4 BlAr X

NO.10  BReEhH + Bl Ar X

NO.11 ¥E/KZEE(200KB)

NO.12 + ANdy S—/Fo a9 F /KSR

NO.14 [BHig7Z
NO.15 A3IRJ(HED)
NO.16 V= A

NO.17 K=/ =7
NO.18 U=zt
NO.19 Sy AZ—
NO.20 ZDith,



_
°
<
|_U
=
_
D
~
«
¥
=
_
D
o~




21" . %32 (SA~K)




21.L—ILERE/L—I)LAH/N—

No. Ee 4 B %k i
1 [20048-11200 L —L5ekE (L) 1
2 [20048-11210 L —L5e5E (R) 1
3 [20035-41200 FERE S v 7 b 1 11.95 X475
4 120048-42040 VX 7 b (AT T ) 1 10X 391
5 [29205-41010 HiEY v 7 b 1
6 [20035-41220 % 7 b (B) 9 10 X 366
7 ]20000-42590 L— LA R v /R—7R)L N 4 b8
8 [20035-41170 S HE(B) 4 M6 X 37
9 [20004-409 Wt a ho—o — 19 10 X 44
10 [20208-41241 Wt = Ao —> — (B) 2 12X 44
11 [20048-42080 T —F—(S) 2 10X 44 150
12 [20034-41010 Tha—F — 4 10 X 48
13 [01000-00612 RNARNL 3 M6 X 12
14 [01200-00605 NAF R 7 M6
15 [01400-00615 NV xR 7 M6
16 [03003-41022 n—7—Fx— 1 #410 22L
17 [03003-41026 n—7—F x— 2 #410 26L
18 [03003-41032 n—7—F x— 1 #410 32L
19 [03003-41042 n—7—F x— 3 #410 42L
20 [03003-41044 n—7—F x— 3 #410 44L
21 [03003-41048 n—7—Fx— 1 #410 48L
22 [20000-49090 15 (SA) Assy 1
23 [20000-49220 #f5% (SH) Assy 1
24 [20000-49250 #l15% (SK) Assy 8
25 [20000-49270 [z (SM) Assy 2
26 [20000-49010 5% (A) Assy 11
27 [20000-49230 5% (K) Assy 1
28 [20048-32001 L —/L 73— (A) 1
29 [20048-32011 L — L 73— (B) 1
30 [20000-41350 EH~—7 1 H#75
31 [20041-41162 U ZHI4HN 1
32 [20041-41172 DA =1 (5) 1
33 [20048-31310 B Y K ¥ SN — 1 t1.0
34 [20050-41020 ZEF > b (©S) 2 M6 P33
35 [20030-41116 tI%y v 8 NTH
36 [20035-41080 T x 7 N N— 1 6 10/ 133
37 [20066-41120 T— )L 1
38 [20000-41780 N AFHIA TS R L b 8 M6 X 12
39
40 [01114-00612 TR T AR Y 4 M6 X 12
41 [20112-31111 Jr 35 U BhIERR 1
42 [01020-90610 F 9 R b 2 M6 X 10
43 [20033-41020 ~J VAT v bk 2 M6




21" #h=A(SA. SH, SK. SM. A.K)

No. a— K 4 B %k i
20000-49090 i1 (SA) Assy
1 [20005-411 FANVVLARXT Y 7 1 10X 13
2 [20005-419 FLJEE 1 4 X 10X 20
3 120000-41140 A7alr v k(8T) 2 8T 10P
4 01500-03025 Hp 2 b 3X25
20000-49220 i1 (SH) Assy
5 [20000-42120 X7 T — A (C) 1 #6001
6 120000-41150 A7'alr v k(8T) 2 8T ¢ 12
7 120038-41250 717 —(B) 2 12.7X3
8 [02202-06001 R—N_XT YT 1 #60010U
9 [20000-41730 I ZFIASF AR - 2 M6 X 12
10 [01200-00605 N 2 M6
11 [20000-41500 Rt 2 o 20
20000-49250 #fif1Z (SK) Assy
12 [20005-411 FANVLARXT Y 7 1 10X 13
13 [20005-419 FLJEE 1 4 X 10X 20
14 120000-41430 A7alr >y k(8T) 2 8T 10P M4
15 [01500-03025 H 2 b 3X25
20000-49270 1= (SM) Assy
16 [20005-411 FANVVLARXT Y 7 1 10X 13
17 120005-419 FLJEE 1 4 X 10X 20
18 [20000-41430 A7alr v k(8T) 1 8T 10P M4
19 [01500-03025 Hp 1 b 3X25
20000-49010 #h% (A) Assy
20 120005-411 FANVVLARXT Y 7 1 10X 13
21 101420-01016 v 7YV x 1 M10
22 101501-00920 Rt 1 $9
20000-49230 #if1= (K) Assy
23 120000-42120 X7 T — A (C) 1 #6001
24 120038-41250 717 —(B) 1 12.7X3
25 101500-03020 Hp 1 b 3X20
26 102202-06001 R—N TV T 1 #6001UU
27 120000-41730 X ZFIASF AR L - 2 M6 X 12
28 101200-00605 NS 2 M6




2. BER




2 &R

No. a— K 4 B %k i
1 [20075-31830 I FE 2
2 120000-42680 J 7R (M8 X16) 4 M8 X 16
3 [20041-31200 VR A L b 4 M8 X 46
4 120000-42010 I AHHIA TS TR L b 4 M6 X 16




3. w#BIL—IL(P)

(2]
N




34#@BIL—IL(P)

No. E 4 B %k i

1 [20050-31611 B L — P (L) 1

2 [20050-31621 i L — /P [R) 1

3 [20050-31480 F 1

4 120013-31102 L — LA B 1

5 [20041-41150 ~JL R 4 H 2

6 120048-41350 ~)L MMEEI Y T B 1 10X 340
7 [20112-31111 Jr 35 U B IERR 1

8 [20000-41130 $ A6V S — 1) — 2 M46 10P
9 [20000-42590 L— LA R v /R—FR Lk 1 48
10 [20005-411 FANVLART ) T 2 10X 13
11 [20013-41103 F Sy k 2 M6 P75
12 [20033-41020 ~UVIEXAF v b 2 M6
13 120000-42010 IS AEHRIA TS TR L b 2 M6 X 16
14 [01000-00610 NARIL K 4 M6 X 10
15 [01000-00812 NARIL K 2 M8 X 12
16 [01000-00825 NARIL K 2 M8 X 25
17 [01020-90610 F 3 7Rk 2 M6 X 10
18 [01200-00807 NSy b 4 M8
19 [01250-00606 JEAAT T v B 2 M6
20 [01420-01016 v VX 2 M10
21 [01500-03025 EE 2 b 3X25
22 [01501-00818 RE L 3 b 8
23 [01501-00920 RE L 2 ®9
24 100931-40019 JEAE 2SR 2 liss 616 k3.1 613




4 #HBHIL—IL/ A2 Y —




AFBIL—IL/ ALY —

No. E 4 B %k i
1 [20048-21271 L — (L) 1

2 [20048-21281 ) 1

3 [20013-41111 o —o—> % 7 1 4 8 X 330
4 120013-41112 Vo — 5 — 8 8 X 44
5 [20000-42590 L— LA R v /R—FRJL k D) 48
6 [20013-31102 L — LA B e 1

7 [20013-41103 F Sy k 2 M6 P75
8 100980-42870 ¥ — 2 — R (6250) molex 1

9

10 [00980-41200 Ty awT NEA 1 1,130
11 [20033-41400 a— Ry 57 2 1.33
12 [01000-00610 NARIL K 4 M6 X 10
13 [01000-00812 NARIL K 2 M8 X 12
14 [01000-00825 NARIL K 2 M8 X 25
15 [01200-00605 NSy b 4 M6
16 [01200-00807 NSy b 4 M8
17 101400-00615 INZY A xR 4 M6
18 [01501-00818 RE L 1 b 8
19 [00992-40340 EET -~ CL-20 1

20 120307-31270 LY —TF 7y k(D) 1

21 [20048-42390 ¥ —E 1

22 [20307-41631 Uk 1

23 [20033-41600 ~A 70 AL v F 1

24 100930-40033 EIE S 1 142 0.7 K0.108 ¢9
25 [20000-41780 I AHHIA TS TR L b 1 M6 X 12
26 [01110-00316 + TS TN Y 2 M3 X 16
27 [01113-00308 FFEREFA_RE R 1 M3 X 8
28 101250-00606 JEAT T v b 1 M6
29 [01200-00324 NSy b 2 M3
30 [01400-00307 NV xR 2 M3
31 [01500-03015 EE 1 6 3X15




. IR HN/EMEAR v /\—




5fBIE A/ fEigrky/ N\ —

No. E 4 B %k i

1 [20070-11121 HwHEY A A% R 1

2 [20070-11131 HwHEY A FAZ L F®R) 1

3 [20070-21220 o —o —524 (36) 1 b 163

4 120048-41100 A 1

5 [20075-31880 ai ACIL A 1

6 [20048-41080 Hifl 52 B 2

7 [20070-31980 vaA X 1

8 [20070-31991 Ty M — 1

9 [20070-41871 Sy oy B L N— 1

10 [20070-31970 HAEINATA R 1

11 [20070-41880 7 A 1

12 [20048-41130 T g LV NK 1

13 [20169-41210 Ty a L hE 1

14 120035-41010 A7alr > k(A1) 1 11T 10P
15 [20041-41040 A7uary bk (427) 1 42T 12P
16 [20048-41090 B LR —A Tl k 1 14T-56T ¢ 15
17 [20000-41320 FANLVAXRT ) T 2 10X 13
18 [20000-41800 FA VL Az (D) 2 12X 18
19 [20021-41117 FA L L A= (B) 2 12X 15X9L
20 [20000-41780 N AFHIA TS R L b 13 M6 X 12
21 [20000-42520 ) 7Rk 1 M6 X 10
22

23 120041-41700 EIEAO) 1 M6 X ¢ 8X5
24 [20050-41020 ZFEF > b (S) 1 M6 P33
25 [20005-419 LA 1 4 X 10X 20
26 [20035-41090 AAL— Y — 1 1.2X12X22
27 [01114-00610 TR EE T AR Y 1 M6 X 10
28 [01420-01016 A 1 M10
29 [01420-01223 v VX 4 M12
30 [01501-00920 RE L 1 ®9

31 [01501-01226 RE L 1 b 12
32 [20000-41820 RE° (16) 1 ® 16
33 [20066-41230 RE L 1 b 20
34 [03003-25062 n—7—F x— 1 #25 62L
35 [03003-25066 n—7—F x— 1 #25 661
36 [20070-41990 BEEL S~ L 1 #75

37 [20075-21160 AR » N — 58k 1

38 [20075-31221 Uy v X — (D) 1

39 [20075-31231 Ny RVsz T4 1

40 [20030-44138 HEi N RL 1

41 [20007-409 Bty 2 M6 X 3. 45
42 101000—-00612 NARIL K 4 M6 X 12
43 [01114-00610 TR T AR Y 2 M6 X 10
44 101250-00606 JEAT T v b 8 M6

45 101421-00610 v 7YV x 2 M6




6. O—ILAHA K/ T+—5




6.0—ILHAL/TH+—Y

No. E 4 B %k i

1 [20048-21020 o—/LHA R 1

2 120041-41790 FF~—7 1 #75

3 [20000-41780 IS AHHIA TS TR L b 8 M6 X 12
4 120048-31010 7 4 — 7 (C) 41

5 [20048-41140 74— i 2 10X 328
6 [02100-01010 CIE 1k A i 2 #10

7 104100-00619 oY 7 2 6X1.9




1. 224 /BB /N—




13407 /1B&EH/N—

0. a— K 4 B %k i
1 [20048-31050 Vs 1

2 120075-31191 F I AA T N— 1

3 120000-41910 {b¥ER Y 6 M6 X 10
4 [20070-21210 YA R NN— (= 2

5 [20076-31231 VEK T~ 1200 (30 1

6 [20070-42002 PR 7~ 1 #75




8. ETFE&RE (A)




8. L THEEMN)

No. E 4 B %k i

1 [20050-31540 L N— 1

2 120048-21130 A R5EkE () 1

3 [20048-21140 AH v RFEfRE () 1

4 [20048-31390 XY —7—25h (A) 2

5 [20048-31400 XY —7—2A (B) 2

6 [20048-31440 2R o X— 1

7 120048-41650 v 7 F (H) 2 10X 382
8 [20048-41670 AR 2

9 [20048-41680 Er S5 L () 1 H#75
10 [20048-41690 S5 () 1 #75
11 [20070-41040 =T~ 1 #75
12 [20033-41010 F Sy k 2 M6 P75
13 120000-41780 IS AEHRIA TS TR L b 6 M6 X 12
14 [20113-41170 PRI R 2 M6 X 40
15 100931-40008 JEAfE 7S 2 130 1.0 K2.396 69
16 [01000—-00612 RNARNL | 2 M6 X 12
17 [01250-00606 JEAAT T v b 2 M6
18 [01421-00610 A 4 M6
19 [01500-02515 EE 4 $2.5X15
20 [01501-00920 RE 4 ®9
21 [20050-41800 N RL=X] 1




9. FRI2RRENAD




9.f& 12 EREHTf

No. a— R £ FR RS ik
1 ]20070-21231 T — A N — 254 1
5 [20070-21250 DCT T L AE—H 1 30W 1/100
E—X B PP T — 1 4X 4 X 25
3 120070-41890 ko A A F 38— (HlED 1
4 [20000-41200 A7vlry b (117) 1 11T 12M
5 [20000-43730 T—X—ZX7a’ v k(OT 1 9T 10K
6 [00980-31060 ACLt L R 1 1
7 100980-43920 AT T AA v F 1 |20A 125V 15A250VAC
8 120030-46120 ThFx T 1
9 [20072-41600 L — 1
10 [20208-48411 a—R7via 2 8X 11
11 [00980-41200 T avT L NEA 2 1130
12 [20033-41400 a— RNy 57 2 1.33
13 [20050-41610 HE~—7 1 #75
14 [20070-41940 Oy ba—75~L 1 #75
15 [20070-41950 Hetor 7 ~ L (#E0%) 1 #75
16
17 [20000-41910 fb¥E R 1 M6 X 10
18 [20000-42010 N AHRA SR L 2 M6 X 16
19 [20000-43110 INFOERLA TR TR Y 2 M3 X 10
20 [20000-41780 N AEHRA SR L 1 M6 X 12
21 [01010-10610 NN AL B 2 M6 X 10
22 [01113-00410 FFERfFF_IE o RD 2 M4 X 10
23 [01200-00303 NAF 2 M3
24 [01200-00403 NAF 4 M4
25 101250-00606 BT T > B 1 M6
26 101400-00410 INZY xR 4 M4
27 101421-00408 v 7Y Hx 8 M4
28 [03003-41032 0—7 —F x— 1 #410 32L
29 [00980-44260 I 2 — F (9B) 1 om
30 [20075-42100 oL b ha—R 1
31 [20075-42130 J L —=— B 1
32 [20060-43170 B fE-EKE) = — R (1.800) (¥&FH) 1
KO E - % (B0 3 X 2 X —THE.
\ _ N
| CM2 ma:‘/h‘/b |
| [CO4 w757 \
I |CO1 |BR757 |
| [RT_[ve-= \
I M2 |sEREE -2 - \
1 ST 1
\ \
| |
\ \

avho-3

FWD  REV IN-COM1
N Xa X1 [«

Cco1




10. BRBHER




10.BRENER

No. =— R 4 FR R S
1 [20070-21200 F— K — X — X 5Ehk 1
2 [20070-21240 T —X—H/3—(F) 1
4 [20208-43214 F—XF—ZX7a% v F (T) 9T 12K
20000-41100 F—X—ZX7a% v k() 1 9T 10M
4 [20000-41580 A7 vy kA7) 1 17T 12M
5 [20000-41160 A7uar vy (207) 1 20T 12M
6 |20000-41770 TRk~ (6 01ZH) 1 H25
7 120075-42280 AT BTy N T )L 1 #75
8 [20050-41521 2L v F~v—7 1 H75
9 [20070-41930 BEfor 7~ 1 #75
10
20113-31110 Xy — FE— hL 1 25W 1/50
11 [E—=ZI2f e [PHT%— 1 4 X 4 X 25
E—XMHE |27 uW 1 6uF
12 [00980-43920 ATy T AA T 2 | 20A 125V 15A250VAC
13 [20030-46120 NS 1 S
14 [00980-43600 EPE Y 1 RS
15 [29202-31050 ACY 77 < 1 31
16 |20033-41010 FTET vk 1 M6 P75
17 [20035-41160 SFEM) 2 M6 X 30
18 [20000-41780 INAERIA S R L S 4 M6 X 12
19
20 (0100000610 NFAARIL 2 M6 X 10
01362-20610 - NN
2V | 20 R V=V AT S s 1 M6 X 10
22 [01110-00412 TR Y 1 M4 X 12
23 [01114-00610 e A H Y N 2 M6 <10
24 [01200-00403 AT 1 M4
25 [01200-00504 NS Y 4 M5
26 [01360-20608 AT IRV 2 M6 X 8
27 [01400-00513 BESES 4 M5
28 [01421-00508 SRS 8 M5
29 [03003-41036 0—7—F = — 1 #410 36L
30 [20208-48411 O— K7 v 2 SX11
31 [00980—-41540 Aoy aay XA 4 1,100
32 [20000-42500 Oy X794 XY —% KL () 3
33 [20033-41400 a— K757 2 .33
34 [20060-43180 FERL-BXE) = — R (1.950) (#fs) 1
35 [00980-44240 Y ko — F (L1250) 1
36 [00980-44270 i = — R (150) 1 | #187-#187-170
37 [00980-44280 2N a— R 1
— B2
! < \L ! 5140
\ \
L L ) ﬂ f o2
M3
35 | o
CM4
CMS [#i%a> £~ b M5 \@
CM4 |+ b
CM3 [#kar e
CO2 #2757
M1 |#EE—%-
St [vsybevy—

BAKXA wF

AR

AAY ALy F




& (200KB)

e

4

K

N

/23

20

31




1.7 /KZEE(200KB)

No. a— K 4 B %k i
1 [20070-32070 VEK AR R 1
2 120070-42130 TR 2N — 1
3 [20070-41850 WK T 23— 1
4 [20070-41861 PR IR [ E A H (B 1
5 [20076-41360 WK a— K7~ 1
6 [20035-41470 EE~—7 1
7 120000-41780 IS AEHRIA TS TR L b 3 M6 X 12
8 120000-41910 {b¥ER Y 2 M6 X 10
9 [20060-30320 J8E FBAssy 1
10 [29202-41380 4+ — X — 3L 7 (J248) 1
11 [20033-41400 a— RNy 7 1 1.33
12 100980-41631 BR a2 — K (v AA) 1 450
13 [00980-45430 HEK 21— R 5ekE (L850) 1
14 [20041-41250 Ja—7 )L 1 G1/2
15 [20048-42101 Nf= 7L 1
16 |U0048-41481 WA ) A=~ k (K-18N) 1
17 120041-41270 IALFXy v 1
18 [20070-42120 WA ) 2 (J248) 1
19 [20000-42751 77 F b 2
20 [20000-31070 ) )T T3 1
21 106710-11200 F—AN R 1 b 12
22 106710-12000 F—AN R 2 b 20
23 106710-12600 F—AN R 1 b 25
24 106600-01550 P = Lh— A 1 o 15 1500
25 [06600-009200 |[E=—/Ld— & 1 69 12000
26 120050-41150 A | 1
27 [20050-41160 Yy 1
28 120041-41240 72 1
29 [20041-41680 75077 Y 2 1 8% 10
30 106200-51313 T LR 1 13X 13
31 [20070-31580 = LAMKE (13-13) 2 13X 13
32 120208-45316 SN 1 b 12~15
33 120030-436 ) R)NIRA T 1 70X ¢ 0. 8
34 12007042111 AN —H— (3, 2) 1 T3.2




12. T AR IIN—/FooavsS5yF/ T REHR




122X ARy —/Fo23095vF/+ REHR

No. a— R £ FR RS i
1 [20048-21212 78 TR o /N — 1

2 120048-42060 = AP (AAR) 2

3 [20048-42070 Z 135 (AR) 2

4 120126-41170 EPN I ENG/P2:)) 1

5 [20133-41070 AL AL ) 1

6 |20035-31082 Ty A — 1

7 [20048-41801 v A iR 2

8 [20070-41800 BRET R Y 1 10 X135
9 [20007-311 NT BN RV 1

10 [20030-44138 SRR/~ FL 1

11 [20030-423 S R~ — 7 1

12 [20048-31630 a7 7L —AN(7 7 RL) 1

13 [20048-31640 2. X7 7L —A(77 RR) 1

14 [20013-41109 ~)L hg D 4 B 2

15 [20048-21200 =T AL k(M) 1

16 |20048—-21120 )L e —5 — 2

17 [20048-41620 @) v 7 1 10X 443
18 [20048-41631 PEE T ¥ 7 b 1 10 X 387
19 [20048-41420 ~)L k3T 1

20 [20133-41020 0— — 1 13X 18X 332
21 [20005-411 FANLUART Y 7 2 10X 13
22 [20208-41303 FA U Al 2 10X 15
23 [20000-42010 N FAEHA N R L B 12 M6 X 16
24

25

26 [20041-41700 EREA6) 2 M6 X ¢ 8 X5
27 [20000-43380 / 77 > bk (M8) 2 M8
28 [20033-41010 FTET vk 2 M6 P75
29 [01110-00612 +TFRS TR Y 9 M6 X 12
30 [01200-00807 NS Y 2 M8
31 [01250-00606 AT v B 11 M6
32 [01420-01016 A 4 M10
33 [01500-03025 e 2 b 3 X 25
34 [01500-04030 FEEY% 1 b 4 X 30
35 [20035-41620 H 23— (Ch) 1

36 |20076-21031 T3 3— (7 7 ) (B) 1

37 [20075-31740 TSy a T —N 1

38 [20075-41980 L N—X oy v/ 1

39 [20030-45116 PN AT IR 1

40 [20030-45117 77 v FWiki~—7 1 #75
41 [20033-41020 ~TJIEAT vk 1 M6
42 20033-41140 77— 1 6.2X16
43 [20033-41360 ~L MR 1

44 [20035-41030 J N —HufF 4 E (A) 1

45 [20035-41180 3=t 4 E (0) 1

46 20035-41260 N T 1

47 [20048-41810 L oN— 1

48 [20048-42400 ~)L R 1

49 [26901-42006 L X— R 1 188 $2.0 K2.796 ¢12
50 [20000-31020 100V — 1 — 1 A100 10P
51 [20000-31060 o7V — 1 — 1 A75 12P
52 [20000-41310 Ty a T — ) — 1 6 X 24
53 [20005-419 LA 1 4X10X20
54 [01000-00612 NF RV 1 M6 X 12
55 [01114-00612 +FUT R 7 AR 2 M6 X 12
56 [01360-20612 ST IE R Y 1 M6 X 12
57 [01501-00510 RE L 1 b5
58 [01500-03025 ET % 2 b 3X25
59 [03511-00035 VL | 1 A-35
60 [01421-00816 v 7YX 1 M8
61 [20075-31330 AR 1

62 [01000—-00610 NF RV 2 M6 X 10




_5_

13. 7)) —n




13.21)—A—5—

o. a—F Z AR (% ik
1 120133-31040 n—7—7—A 1

2 120035-41130 7YV —ua—5—vx7 h 1 10 X340
3 120005411 FANVVAXT Y T 2 10 X13
4 120004-409 kg be—7— 4 10 X 44
5 101420-01016 LI UX 2 M10

6 101501-00818 RE > 2 68







14 &5

No. E 4 B %k i

1 [20048-31831 mliz7 5> A% R (L) 1

2 [20048-31841 mliz7 52 A% K (R) 1

3 [20048-31820 [nl#:~ 7 3 (140 1

4 120075-41360 RN — 1

5 120070-31920 77 nay R 2

6 [20048-31620 7537 —5 (R) 1

7 120048-42200 ARy =2 %7 K (N) 1 10X 370. 4
8 [20048-42310 [~ 5 3 h 3 — 1

9 [20048-42350 X hV~—7 (L) 1 #75

10 [20048-42360 X hU~=—7 (R) 1 #75

11 [20048-42420 v 7 K 13— (20) 1 o 10/ 1.20
12 [20048-42431 GAA R 2

13 [20060-31242 Mz~ 7 iR~ — 7 1 #75

14 [20075-31530 F L N— 1

15 [20035-41010 A7alr sy k(A1) 1 11T 10P
16 [20035-41020 A7 0l b (421) 1 42T 10P
17 [20035-41160 S (A) 1 M6 X 30
18 [20050-41450 EIEEES 2 142 0.8 K0.228 ¢9
19 [20208-42303 AL —H— 2 ]0.8X10.5X18
20 [20000-41320 FANLVART ) T 4 10X 13
21 [20033-41010 F Sy k 2 M6 P75
22 [20133-41220 7y 7y k 2 M6

23 [20000-41780 X FEHLIA SR L B 8 M6 X 12
24 [20000-42010 X FEHLIA SR L B 2 M6 X 16
25 [20000-43340 SHEIR L (M6 X 40) 2 M6 X 40
26 [20000-43350 SHEIR L (M6 X 60) 2 M6 X 60
27

28 [01000-00610 NARIL K 1 M6 X 10
29 [01114-00610 TR E T AR Y 3 M6 X 10
30 [01250-00606 JEAAT T v b 2 M6

31 [01290-90600 Fa )y b 2 M6

32 [01420-01016 v VX 2 M10
33 101421-00610 v 7YV x 4 M6

34 [01500-03025 ET=Y% 2 b 3X25
35 [02100-01010  [CIZIE A iy 1 #fi10
36 [03003-25102 n—7—F x— 1 #25 1021




15. R = 1) (Bl




15. XXM (HD)

No. Ee 4 B %k i
1 [20075-41500 FEEA K R 2
2 129224-21052 224 B 1
3 [29224-41373 T~ L 1 #75
4 [29224-41400 F—7 1
5 [29224-41690 % NV FRHEDE (L) 1
6 [29224-41700 % N UFRHEE (R) 1
7 [29224-41720 7 — b (B) 2
8 [20041-41700 EIREAO) 2 M6 X ¢ 8X5
9 [20000-41780 PN FEHRA S R L 2 M6 X 12
10 [20000-43120 PN FERIA S R L 2 M6 X 20
11 [20000-43350 SHEIR L (M6 X 60) 2 M6 X 60
12 [20033-41020 ~UVIEXAF v b 2 M6
13 [20133-41220 E A 2 M6
14 [01250-00606 JEAT T v B 2 M6
15 [00931-40012 JEAE 2SR 2 s s12 kesiz g2




16. V3 LA




16.v3d L

o. a— K 4 B %k i
1 [20050-21010 VA 1

2 120050-41030 [EVS 35S 2

3 [01290-90600 Favt v b 2 M6

4 101000-00612 NA RV B 2 M6 X 12
5 [20033-41020 ~U VAT b 2 M6




17. KZ1+/ L3217




17.K=20+/ 25101

o. E 4 B %k i

1 [20070-32011 K\ F 2 — b 1 1100

2 120070-41910 SFT v 12

3 [20030-47119 T Y — 1 1.6X28X40
4 120030-47120 X 2 3 X 28 X 40
5 [20033-41050 > k 1 PF3/4

6 [06252-52034 2V A7 b 1 20X 3/4

7 [20030-47125 HEK A — A 1 L.=5m

8 [20070-32000 +=F—h 1




18. }= 1




1880311
o. Ee 4 B %k i
1 [20041-31100 Wk =2 1
2 120042-41080 EIZTANEHE () 2
3 [01000-00610 RNARNL | 4 M6 X 10
4 101250-00606 JEAT T v b 4 M6




19. F v X2 —




19.F v X 3—

No. E 4 B %k i
1 [29222-31070 e 2 $ 160X ¢ 10
2 29222-41140 7L — A 1
3 [29222-41120 AH R 1
4 [20050-41310 Btz (1) 2 M6 X 11
5 [01000-00616 RNARNL 2 M6 X 16
6 [01250-00606 JEAT T v b 4 M6
7 101420-01016 v 7V X 4 M10
8 [01501-00920 RE 2 59




20. T Dt

S




20.Z Dt

No. a— K 4 B %k i
1 [20059-21032 iR > 23— (F) 1

2 [20060-21082 AR v X— (N 2) 1

3 [20000-43650 ) 75 vk 4 M6

4 101114-00610 +FREE BT AR Y 4 M6 X 10
5 [20000-41830 +FZ7 8k (7X10) 1 fEE D 10-7
6 [20000-43580 N A NS 1 xti3
7 120013-45101 stED v 1

8 [20070-40120 iz o —~7 Assy 1

9 [00980-43000 Biia— R 1 140
10 [20076-41090 Pia— R~ 1 #25
11 [00992-40040 FEET -~ CL-3 1

12 [00992-40130 FEET -~ CL-10 1

13 [20048-32030 I Z ~ )L 1 #75
14 [20070-42090 B i = 1

15 [20070-41910 SFT

16 [00980-44450 TA ) 2

17 [20070-42030 Wt~ —7 1




